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1. X-ray diffractometers are not used to identify the physical properties of which of the following?

a) Metals | b) Liquids [c) Polymeric materials [ d) Solids

2. X-ray diffractometers provide information about the compounds present in a solid sample.

a) Quantitative b) Qualitative €) Quantitative and d) Either quantitative or
qualitative qualitative

3. Using the powder method of diffractometers, which of the following can be determined?

a) Percentage of K+ |b) Percentage of Na+ c) Percentage of KBr and |d) Percentage of Br-
and Cl- NaCl

4. In powder method, the powder sample is contained in which of the following?

a) Thin walled glass b) Thin walled test ) Thin walled curvettes d) Thin walled flask
capillary tubes tube

5. Which of the following is the most common instrument for photographic recording of diffraction
patterns?

a) Debye-Scherrer powder camera |b) Gamma camera ) Geiger tube  |d) Scintillation counter

6. With the help of which of the following equations is the distance calculated from a
known wavelength of the source and measured angle?

a) Coolidge equation  [b) Bragg’s equation | ¢) Debye equation |d) Scherrer equation

7. In Diffractometer, the identification of a component of the sample from its powder
diffraction pattern is based upon the of lines and their relative

a) Number, length  |b) Number, intensity | ¢ Position, length | d) Position, intensity

8. When certain geometric requirements are met, X-rays scattered from a crystalline
solid can constructively interfere with each other and produce a diffracted beam.

a) True | b)False | |

9. Diffractometers are similar to which of the following?

a) Optical grating b) Prism spectrometer c) Photo multiplier d) Photovoltaic cell
spectrometer
10. In Diffractometers, line intensities depend on and kind of atomic reflection
centres in each set of plates.
a) Number b) Position ¢) Length d) Distance between lines

11. In Diffractometers, the intensities of the diffraction peaks of a given compound in a
mixture are proportional to the fraction of the material in the mixture.

a) True | b)False | |

12. . In powder diffractometer, the sharpness of the lines is greatly determined by which of
the following?

a) Quality of the b) Quality of the slit, c) Thickness of the slit, |d) Number of slits, composition
sample, size of the slit  |size of the sample amount of the sample of the sample

13. What is the relation between restoring force, f to the displacement q in Hooke’s law?

a) f= -kq | b) f=kq ) f=kq2 |d) f=-kq2
14. The intensity of an absorption band is always proportional to which of the following
factor?
a) Atomic population b) Molecular population of the ) Molecular population of d) Temperature

initial state the final state

15. On which factors the vibrational stretching frequency of diatomic molecule depend?




a) Force constant  |b) Atomic population  c) Temperature |d) Magnetic field

16. In which unit Force constant is not expressed?

a) Dynes cm-1 |b) dyne A-1 | ¢ Nm-1 | d) kp

17. For HCI, = 1.63 x 10-27 kg, the observed frequency = 2890 or v = 8.67 x 1013 Hz.
What is the force constant K?

a) 4.83 mdyn A-1 | b) 8.43 dynes cm-1 | ©)483 um-1 | d) 4.83 dyn A-1

18. Since the nuclei in a polyatomic molecule do not always vibrate in a simple harmonic
manner, there arises which of the following situation?

a) Harmonicity b) Anharmonicity in c) Fundamental d) Infrared
molecular vibrations frequencies

19. The vibrations, without a center of symmetry are active in which of the following

region?
a) Infrared but inactive |b) Raman but inactive in c) Raman and IR d) Inactive in both Raman and IR
in Raman IR

20. The frequency of vibration of a bond is a function of which factor?

a) Force constant of the |b) Masses of the atoms  ¢) Force constant of the  |d) Bond order
bond involved in bonding bond and Masses of the
atoms

21. What is the order of decreasing vibrational frequency for C—CI,C —Br,C—C, C
—Oand C—H?

a) C-H, C-C, C-O, C- b) C-Cl, C-Br,C-C,C- [)C-O, C-H, C-Br, C- d) C-Br, C-Cl, C-C, C-O, C-H
Cl, C-Br H,C-O Cl,C-C

22. What is the correct increasing order of stretching frequencies for C=C, C=C and C
—C?

adC—C>C=C>C=|p)C=C>C=C>C— )C—C>C=C<C= |[d)Cc=C<C—C>C=C
C C C

23. Chromatography is a physical method that is used to separate and analyze

a) Simple mixtures | b) Complex mixtures | c) Viscous mixtures | d) Metals

24. In which type of chromatography, the stationary phase held in a narrow tube and the
mobile phase is forced through it under pressure?

a) Column b) Planar chromatography  |c) Liquid chromatography |d) Gas chromatography
chromatography

25. In chromatography, the stationary phase can be supported on a solid.
a) Solid or liquid | b) Liquid or gas | ¢) Solid only | d) Liquid only

26. In chromatography, which of the following can the mobile phase be made of?
a) Solid or liquid |b) Liquid or gas | c) Gas only | d) Liquid only

27. Which of the following cannot be used as an adsorbent in Column adsorption

chromatography?

a) Magnesium oxide | b) Silica gel | ¢) Activated alumina |d) Potassium permanganate

28. Which of the following types of chromatography involves the separation of substances
in a mixture over a 0.2mm thick layer of an adsorbent?




a) Gas liquid | b) Column | c) Thin layer | d) Paper

29. Chromatography cannot be used to purify volatile substances.

a) True | Db)False | |

30. In Column chromatography, the stationary phase is made of __ and the mobile phase is made of

a) Solid, liquid | b) Liquid, liquid | ¢) Liquid, gas | d) Solid, gas
31. Chromatography cannot be used to separate delicate products.
a) True | b) False | |
32. In Thin layer chromatography, the stationary phase is made of and the
mobile phase is made of
a) Solid, liquid | b) Liquid, liquid | ¢) Liquid, gas |d) Solid, gas

33. In which of the following type of paper, chromatography does the mobile phase
move horizontally over a circular sheet of paper?

a) Ascending paper b) Descending paper c) Radial paper d) Ascending — descending
chromatography chromatography chromatography chromatography

34. Liquid chromatography can be performed in which of the following ways?

a) Only in columns  |b) Only on plane c) Either in columns or d) Neither in columns nor on
surfaces on plane surfaces plane surfaces

35. Gas chromatography can be performed in which of the following ways?

a) Only in columns b) Only on plane c) Either in columns or  |d) Neither in columns nor on

surfaces on plane surfaces plane surfaces

36. In Gas-liquid phase chromatography, the stationary phase is composed of
and the mobile phase is made of

a) Solid, liquid |b) Liquid, liquid | ¢) Liquid, gas |d) Solid, gas

37. Which of the following types of chromatography involves the process, where the
mobile phase moves through the stationary phase by the influence of gravity or capillary
action?

a) Column b) High Pressure Liquid ¢) Gas Chromatography d) Planar Chromatography
Chromatography Chromatography

38. Which functioning element of microcontroller generate and transmit the address of
instructions to memory through internal bus ?

a. Instruction b. Timing and Control c. Program Counter d. Arithmetic Logic Unit
Decoding Unit Unit

39. How does the microcontroller communicate with the external peripherals /
memory?

a. via 1/0 ports | b. viaregister arrays | c. via memory |d. all of the above

40. Why do the microprocessors possess very few bit manipulating instructions?

a. Because they b. Because they mostly c.Botha&hb d. None of the above
mostly operate on |operate on byte/word
bits/ word data data




41. Which minimum mode signal is used for demultiplexing the data and address lines
with the assistance of an external latch in a microprocessor while accessing memory

segment ?

a. INTA

| b.DTE

|  c.HOLD

| d. ALE

42. A microcontroller at-least should consist of:

a) RAM, ROM, I/0
devices, serial and
parallel ports and
timers

b) CPU, RAM, I/O
devices, serial and
parallel ports and timers

c) CPU, RAM, ROM, 1/O
devices, serial and
parallel ports and timers

d) CPU, ROM, I/O devices and
timers

43. Unlike microproc

essors, microcontrollers make use of batteries because

they have:

a) high power
dissipation

b) low power
consumption

c) low voltage
consumption

d) low current consumption

44, \What is the order

decided by a processor or the CPU of a controller to execute an instruction?

a) decode, fetch,
execute

b) execute, fetch,
decode

c) fetch,execute,decode

d) fetch,decode,execute

45. How are microcontrollers classified on the basis of internal bus width?

a) 8,16,32,64 bits

b) 4,8,16,32 bits

| ¢) 8,16 bits

[d) 4,16,32 bits

46. How are the performance and the computer capability affected by increasing its internal bus width?

a) it increases and turns
better

b) it decreases

C) remains the same

d) internal bus width doesn’t
affect the performance in any
way

47, Abbreviate CISC

and RISC.

a) Complete Instruction
Set Computer, Reduced
Instruction Set
Computer

b) Complex Instruction
Set Computer, Reduced
Instruction Set Computer

c) Complex Instruction
Set Computer, Reliable
Instruction Set Computer

d) Complete Instruction Set
Computer, Reliable Instruction
Set Computer

48. Give the names of the buses present in a controller for transferring data from one place to

another?

a) data bus, address bus

b) data bus

c) data bus, address bus,
control bus

d) address bus

49. What is the file extension that is loaded in a microcontroller for executing any instruction?

a) .doc

| b).c

| ) .txt

| d) .hex

50. What is the most appropriate criterion for choosing the right microcontroller of our choice?

a) speed

| b) availability

c) ease with the product

|d) all of the mentioned

51. Why microcontrollers are not called general

purpose devices?

a) because they are
based on VLSI
technology

b) because they are not
meant to do a single
work at a time

) because they are cheap

1) because they consume low
ower

52. Which word size is approved to be of greater importance for performing the
small computational tasks along with its storage usability feature adopted by

ASCII code?

a. 4-bit

| b. 8-bit

| c. 16-bit

| d. 32-bit




53. Which among the below stated statements does not exhibit the
characteristic feature of 16-bit microcontroller?

a. Large program & data b. High speed c. I/0O Flexibility d. Limited Control Applications
memory spaces

54. Which microcontrollers offer the provisional and salient software features of
fault handling capability, interrupt vector efficiency and versatile addressing ?

a. TMS 1000 b. TMS 7500 (8 bit) | c. Intel 8096 (16 bit) __|d. Intel 80960 (32 bit)
(4 bit)

55. Which category of microcontrollers acquire the complete hardware
configuration on its chip so as to run the particular application ?

a. Embedded Memory  |b. External Memory c.Botha&b d. None of the above
Microcontrollers Microcontrollers

56. External Memory Microcontrollers can overcome the limitations of
insufficient in-built program and data memory by allowing the connections of
external memory using

a. Serial Port Pins as b. Parallel Port Pinsas  [c. Parallel Port Pins as d. Serial Port Pins as address
address and data lines address and data lines address and control lines and control lines

57. How are the address and data buses removed in external memory type of
microcontrollers?

a. Through b. Through c. Through multiplexing |d. Through multiplexing by
demultiplexing by demultiplexing by by external latch & DLE |external latch & ALE signal
external latch & ALE external latch & DLE signal

signal signal

58. What are the significant designing issues/factors taken into consideration for RISC

Processors?
a. Simplicity in b. Pipeline Instruction . Register Usage d. All of the above
Instruction Set Optimization Optimization

59. What does the compact and uniform nature of instructions in RISC processors
facilitate to?

a. compiler optimization | b. pipelining lc. large memory footprints |d. none of the above

60. Which processor has the necessity of manual optimization for the generation of
assembly language code especially for the embedded systems?

a. RISC | b. CISC | c.Botha&b [d. None of the above

61. Which register of current procedure resemble physically similar to the parameter
register of called procedure during register to register operation in an overlapping
window of RISC Processors?

a. Local Register |b. Temporary Register  [c. Parameter Register | d. All of the above

62. Which architectural scheme has a provision of two sets for address & data
buses between CPU and memory?

a. Harvard architecture b. Von-Neumann c. Princeton architecture d. All of the above
architecture

63. Which factors/parameters contribute to an effective utilization or adoption of
Harvard architecture by most of the DSPs for streaming data?

a. Greater memory b. Predictable nature of c.Botha&hb d. None of the above
bandwidth bandwidth




64. Which kind of multiplexing scheme is adopted by VVon-Newman architecture
especially for program and data fetching purposes?

a. Time Division b. Frequency Division (. Statistical Time d. Code Division Multiplexing

Multiplexing Multiplexing Division Multiplexing

65. Which feature deals with the fetching of next instruction during the
execution of current instruction irrespective of the memory access?

a. Fetching | b. Pre-fetching lc. Fetch & Decoding d. All of the above

66. What are the essential tight constraint/s related to the design metrics of an
embedded system?

a. Ability to fiton a b. Low power c. Fast data processing d. All of the above
single chip consumption for real-time operations

67. Which abstraction level undergo the compilation process by converting a
sequential program into finite-state machine and register transfers while
designing an embedded system?

a. System | b. Behaviour | C.RT | d. Logic

68. Which characteristics of an embedded system exhibit the responsiveness to
the assortments or variations in system's environment by computing specific
results for real-time applications without any kind of stponement?

a. Single-functioned b. Tightly-constraint c. Reactive & Real time |d. All of the above
Characteristic Characteristics Characteristics

69. Indention in computer word processing is used to

a. make the text b. change the paragraph (. apply border around d. change line spacing
readable color text

70. Fonts tend to have less line width variation than serif fonts
is

a. European | b. American | c. Serif | d. Sans serif

71. Set of buttons that invoke commands in a computer word
processing document is called

a. menu | b. button list | c. dialog | d. toolbar

72. Number of personal computers in which word processor is
already installed is about

a. 10% | b 50% | c. 80% | d. 90%

73. Special part of computer memory to temporarily hold
information for later use is called

a. ROM | b. Clipboard | c. desktop | d. CRAMS

74. Changing the position of text on the screen is called ...

a. Alignment | b. Centering | c. Layout |

75. The command to check for errors in a document is called ...

a. Dictionary ‘ b. Spelling and Grammar ’ c. Proofing ’

76. Adding a space at the start or the end of a paragraph is called ...

a. Paragraph Spacing | b. Layout | c. Alignment |




77. The space at the very top of a document is called the ...
a. Top | b. Beginning | c. Header |
78. The space at the end of a page is called the ...
a. Footer | b. End | c. Bottom |
79. The blank space at either side of a document is called the ...
a. Slides | b. Margins | c. Edges |
80. Which menu tab allows you to change the font style?
a. Home Tab | b. FontTab | c. Format Tab |
81. The tool to change the character size is called ...
a. TextSize | b. Letter Size |  c. FontSize |
82. Which menu tab allows you to create mail merge?
a. Format | b. Mailing | c. Data |
83. You can use the find command to ...
a. Search for a character | b. Search for a symbol | c. Search for a word
84. To automatically count how many times the word 'and' appears in a
document you could ...
a. Read through the b. Use the find c. Use the count
document command command
85. You can see how your document will print out by using ...
a. Print preview | b. Page Preview | c. Page Layout \
86. Heading 1, Heading 2, Strong and Quotes are examples of ...
a. Tiles | b. Styles ‘ c. Layouts
87. To save a file in a new folder or with a new name you would use the
command ...
a. Create Folder | b. Rename | ¢ SaweAs |
88. Bold, Italics and Underline are examples of ...
a. FontFormatting |  b. Font Styles | c. FontLayouts |
89. Which menu tab would you use to change the page margins, orientation and
page size?
a. Create Page | b. Page Setup | c. Page Layout |
90. The best way to add a new page into your document is to ..
a. Copyandpaste | b. Pressenter | c¢. Add a page break |
91. To move a paragraph of text from one document to another you would use ...
a. Copyandpaste | b. Draganddrop | c. Retype |




92. You can add clipart, images and shapes to a document by clicking on the
menu tab.

a. Format \ b. Picture \ c. Insert

93. By default, the header and footer appears on which page?

a. Every page b. The first page c. Every other page

94. Which is the first electro-mechanical binary programmable computer?

a. Z1 | b. Intel 8084 | ¢ IBMO007 | d. Intel 8000

95. Which chip is used inside the apple new computers?

a. G3 | b G4 | c.ATI | d. MACO03

96. Who is the father of computer?

a. Charles Newman | b. CharlesBabbage |  c.HenryBabbage |  d.Henry luce

97. Which is an example of first generation computer?

a. EDVAC |  b. EDSAC | c.ENIAC | d.UNIVAC

98. Operating system is used in which generation of computer for the first time?

a. First Generation b. Second c. Third Generation d. fourth Generation
Generation

99. What is an another name of personal computer?

a. Micro-Computer b. Private Computer c. Distinctive d. Individual
Computer Computer

100. Which is the most common types of computer?

a. Desktop b. Notebook c. Server d. Laptop
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